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Note: (i) Therc are in all 30 questions in this question paper. All questions are compulsory.

l .

(ii) Marks allocated to cvery question are indicated against it.

{iil) Question No. 1 is muitiple choice type question. Question Nos. 2 o 6 are of one mark cach,
Question Nos, 7 1o 15 are of two mark each. Question Nos. 16 to 24 are of three mark
each. Question Nos. 25 ta 30 arc of four mark each,

T Y B Wlw WU @ oex A oR feewm RA M &) Wl faeew el Sw-givaw
i kel - 1x6=6
Four options arc given in each parl of question. Write the correct answer in vour answer book —
(@) ol # o9 S weaEs § -
Which of the following is an amphoteric oxide —
(i) Na0 (i) ALO, {iii) MgO (iv) SO,
(@) T e, Rraes BRO WA & Hoe el W T O ® SR w8 oxd e wnl § ol @i R -
The process by which the black coating on silver and the green coating on copper occurs, known as —

(i) SETNATE (i) StFaIER (iif) wq=Ea= (iv) Eenww
Neutralisation Oxidation Reduction Corrosion

(m aﬁmnﬁma%ﬁmﬁﬂwmﬁmw?—
Lymph is associated with which part of human system -
(i) S (i) uRazs (iii) dreeT (iv) TT8=
Excretion Transportation Nutrition Respiration
(@) R ofay i (geh) e TN srr Raw 31 Pefia 1 & R g T ot =rem el & —
The symbol used to represent a plug key or switch {open) in an eleciric circuit is -
(i) —awaw— (i) —— (i) — — {iv) —o)—
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(8) e o Rrw W W R avg @ wiRfde aw B 9w ¥ -

The human eye forms the image of an object at its -

i) ®iff (i) Renfa (iii) gereit (iv) gfees
: Reti

Comea Iris Pupil
(v) < R # faftre w1 § -

‘Biodiversity hot spots’ are -

(i) & (i = @iy iy vy gdre &7
Fields Forests Gardens Polar region
fad & o0 Hqual B M qAEd)

Name the main constituents of brass.

voand &1 (HIV) O e Am fafg |

Write full form of HIV.

WRaE® FewrT Tat svegRs f5E fowm  swew § 2

In which direction a freely suspended bar magnet rest ?

we <o A ws gl R S 2 7

What is the focal length of a plane mirror 7

ol @ X d=feas Wl @ W fRET)
Write name of two alternate sources of energy.

| PR TS wRe T T e -

Balance the following chemical equations —
(#) NaOH +H_ SO, —— Na,50,+H,0
(@) Fe+H,0——Fe,0,+H,

fPr=fafas A o e IR -

Name the following compounds —
H HH H O
ol Lol
(®) H—C—C—C—OH &) H—C—C—OH

I |
H H H H

T Fa® & A kel -
Write the name of tissue —

(@) < i ¥ Wrow el o feaver o 2
Which transports food in plants.

(@) S el # e wen WS el 1 Rever FRa ¥
Which transports water and minerals in plants.
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1+1=2
1+1=2
+1=2
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Harew g 7 AT eR TEN St Rew o FEm TR s ¥ 7 1+1=2
What are Fossils ? How fossils provide evidence for evolution ?

e @ (2T el e e W R 3 e o o ) anten Wi Wi fw R @G § 72
What advantage over an aquatic organism does a terrestrial organism have with regard to obtaining
oxveen for respiration ?
wmﬁzsa@nmmﬁwmémi‘rmfitﬁgm%lw%mﬁamaﬁmaﬁmaz
25 coulomb of charge flows through a conductor in 10 second. Calculate the current flowing through the
conductor.

20,310 TH 60 3 & SPREET 1 3 yer i o1 (6 9o o FA TR 40 817 2
How can three Tesistors of resistances 2 €2, 32 and 6 Q be connected to give a total resistance of 4 Q. 7

DSD & 15D AT & 2 O N wa@ @ T #| 5 W o e o gt 7 2
Two lenses of powee +2,5 Dand - 1.5 D arc placed in contact with each other. What will be the power
of this combination ?

TEEE e SORT ¥ T A # 7 [+1=2

What is meant by ‘Producer’ and ‘Consumer’ ?

frfafiaa @Y soape Ry wom 7R - {+1+1=3
Give the electronic dot steucture of the following -
(@) wWrEs ¥ () EEg TSETTS (m) oftre gemed

Ethanoic acid Hydrogen sulphide Ethyl Alechol

(F) TIee B Fove & Tt g2 fERe 1
Write chemical formula of hydrated Copper Sulphate.

(@) wrer W AR W UEEEE 7w § 2 @R ane AR & PR ¥ e e
wtEe e | 1+1=2

What is the chemical name of Plaster of Paris ? Give chemical equation involved in the preparation
of Plaster of Paris.

7 Bren & W9 (Paw At e D) — 1+141=3

What happens when (Give chemical equation only}—

(m) T e v B ¥ & T F wafda o wmn 2y

Carbon dioxide gas is passed through lime water.

@) WA TEom e & T e o )
Sodium Hydrogen Carbonate is strongly heated,

() PR o, @ FEERERe av & e e
Bleaching powder reacts with dilute Hydrochloric acidl.
e[ T (OR)
amfe ared TRl g ARSE® B e A F o 1 aEen ; ge P | 3

Compare and contrast the arrangement of elements in Mendeleev's Periodic Table and the Modern
Perodic Table.
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19. Wt ¥ JTRAT T PRI SHAEWES FT IRUEH Y S/ & 7 awenEdy 3
How is oxygen and carbon dioxide transported in human beings ? Explain.

20 AT TA P TRE PA AL 2T aCH S qa I & 7 3
What are the components of transport system in human beings 7 What arc the functions of these
components ?

21. P @ e feaf fafd - 1%:+1%=3
Write short note on following -

() wfw 7o (rE) (@ gegEEs
Artificial kidney (Hemodialysis} Regeneration
22, (®) fodt ara® & vEred I dyw wfokwem & T aftw @ ? W SR 2
What is meant by electrical resistivity of the material of a conductor ? Clarify,
(@) faem o & oy T @ o SeA wTg & g aat few Arr € 7 1
Why is Tungsten metal selected for making filaments of an electric bulb ?

23. =R =iz Iy g B ? ¥ gfte <y weww B9 @ o v foRed | o s g w5 g
Y i frarer T grr 9 e o wear R ? 1+1+1=3
What is long sightedness 7 List two causes for development of long sightedness. Describe with the ray
diagram, how this defect may be comrected by using spectacles ?

| e (OR)
5 N TR T ARG 20 ¥R P gq AN I S B T 9 D whaq A S B W | A A
3 30 ¥ B TEd B o o offe 9 () Rafy Gi) sy (i) srew g DR 1+1+)=3
An object 5 cm in length, is placed perpendicular to the principal axis of a convex lens of focal length
20 cm. The distance of object from lens is 30 ecm. Find—(i) Position (ii) Naturc
(iii) Size of image formed by it.  http://www.ukboardonline.com
24. (&) 3t 79T oW & ? o anf T @ TeRS v fafg | _ 1+1=2
What is Acid rain ? Write one harmful effect of Acid rain.
(@) @ yEar e ? 1
What is Food chain ?
HYET (OR)
oot o WUEY & T ard R ? i |t g anl o woen @ ol aend ) Rt @ st
BT | 3
What is meant by Rain Water Harvesting ? Mention some of the common methods used for Rain Water
Harvesting by the rural people.
233 (HXL) [ 4]
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25, #Y UG B (FTe vrEraryE Wimee S} 1414141 =4

26,

~d
-]

How will obtain (Give chemical equation only) —
@]w%qﬂﬂfﬁﬁm (E)Qﬁﬂﬁﬁﬂﬁﬁmqm

Ethanoic acid from Ester Sodium ethoxide fom Ethy! alcobol

(M ¥ 4 ARm wRES (@) YRGS R ¥ Wi Y
Methyl chloride from Methane Sodium acetate from Ethanoic acid

e 3 o B - 542 =4
Differcntiate in Tollowing -
() sTRiteRE T§ STaT (@) wfrr vd omes

Oxidising agent and Reducing agent Mineral and Ore

ST (OR)

ST (TVTO] SIS §) TR WEhY (XA A 16) SR WROD & WRE 16 P AW ¥ | FF <A
T 7 Tewe e SR | I § T W aw e e faga g ek w) ?

1+1+2=4
Oxygen (atomic number 8) and Sulpbur (atomic number 16) belong to group 16 of the periodic table,
Write the clectronic configuration of these two elements. Which of these elements will be more
electronegative and why 7

. (@) s uferdf g wed € 7 A TR ¥l o e | st oitenl @ A

forflard | 1+%+%=2
What are Endocrine glands 7 Write the name of two endocrine glands found in the human body.

‘) e W T e v H T IR B & 7 2

What is the difference berween ascxual and sexual reproduction ?
Jgar (OR)
(@) AFE B ATE O T w1 A 4% gl |
Draw labelled diagram of buman female reproductive system.
(@) e 4 v = T FaRe SR R 2 7 2

How sex of a child is determined in human beings ?

1%}

28. (@) A ™ wRuz sy # @ @R — 141 =2

In the given circuit diagram, calculate —
(i) T ¢cD @ @e Sk

Total resistance in arm CD
(ify ITH g1 weTiRT | €T

Total current drawn from the battery
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(@) A ¥ W @ & wir] I 39 gitdl @ TErs ANARe s e am E 7 2
What are the advantages of connecting electrical devices in parallel with the battery instead of

connecting them in series ?
T (OR)

{quasmﬁ%mmsvaﬁqsooma.aﬁm%kmu%ﬁﬁr- [=1+1=3
A torch bulb is rated 5 V and 500 mA. Calculate —
() T & afw
Power of bulb
(1) T T WRRE
Resistunce of bulb
(i) 4 98 TEA W T ERT IYET FAI
Energy consumed by bulb when it is lighted for 4 hours
@mwmmmﬁﬁmﬁaﬁwﬁmm%? 1

What determines the rate at which energy is delivered by a current 7
29 (@) T AT Y B R e gie @ =pre o R el s 2 1
What is the least distance of distinct visian for normtal human cye ?
w}wmaﬁwmwmﬂhmmwt? 1
The magnification produced by a plane mirror is +1. What does it mean ?

(m anem P & ar & AR |4 2
Explain why do stars twinkle,
30 (@) oem o @ e fRdmand Bkf & ° 1

What are the characteristics of a good fuel ?
(@) dawr o St R F wY X o Fega @ A A AR I ORI 1A+ =3

Compare and conirast bio-mass and hydro electricity as source of cnergy.

PEEEREESE
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